MTH 162 Homework 8

Do the first eight problems. Due: Mar 19, 2014 (Wednesday). Hand in to me during the class.

Compulsory:

Ex 6.1

3-26 = Evaluate the integral.
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27-30 = First make a substitution and then use integration by
parts to evaluate the integral.
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Ex. 6.2

1-36 = Evaluate the integral.
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(You may need: (sec x)’= sec x tan x)
39-41 = Evaluate the integral using the indicated trigonometric
substitution.
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42-60 Evaluate the integral.
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(You may need: (sec x)’= sec x tan x)



Recommended: (These types of questions may also appear in the exams)

3-26 = Evaluate the integral.
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27-30 = First make a substitution and then use integration by

parts to evaluate the integral.
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Ex 6.2

1-36 = Evaluate the integral.
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42-60 Evaluate the integral.
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